Quiz: Ch 3







Name:

Version Q (28 pts)
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AP Chem







Period: 1  2  3  4

Show your work for all questions; answer all parts of all questions.  No work = no credit.
1. (16 pts) A potential reaction to power rockets uses the following balanced reaction:

2 B5H9 (l) + 12 O2 (g) → 5 B2O3 (s) + 9 H2O (g)

a. (2 pts) The name of B2O3 (assuming it is ionic) is ____________________________.

b. (8 pts) If one tank in a rocket holds 126 g of B5H9 and another tank holds 192 g of O2​, what mass of water can be produced when they mix?













Ans = 

c. (2 pts) The limiting reactant is (circle one):
B5H9 

O2
B2O3
  H2O

d. (4 pts) What mass of excess reactant will remain after the reaction is complete?













Ans = 

2. (12 pts) An unknown compound contains only sulfur and nitrogen; the molar mass is 184 g/mol.

a. (6 pts) What mass percent of the compound is sulfur?













Ans = 

b. (2 pts) The name of compound (assuming it is molecular) is ________________________.

c. (4 pts) What is the empirical formula of the compound?  Why?













Ans = 
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Show your work for all questions; answer all parts of all questions.  No work = no credit.
1. (16 pts) An interesting reaction uses the following balanced reaction:

2 Be3F8 (l) + 13 O2 (g) → 3 Be2O6 (s) + 8 F2O (g)

a. (2 pts) The name of Be2O6 (assuming it is ionic) is ____________________________.

b. (8 pts) If one tank in a rocket holds 130 g of Be3F8 and another tank holds 175 g of O2​, what mass of F2O can be produced when they mix?













Ans = 

c. (2 pts) The limiting reactant is (circle one):
Be3F8

O2
  Be2O6

F2O

d. (4 pts) What mass of excess reactant will remain after the reaction is complete?













Ans = 

2. (12 pts) An unknown compound contains only silicon and oxygen; the molar mass is 180 g/mol.

a. (6 pts) What mass percent of the compound is silicon?













Ans = 

b. (2 pts) The name of compound (assuming it is molecular) is ________________________.

c. (4 pts) What is the empirical formula of the compound?  Why?













Ans = 
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Show your work for all questions; answer all parts of all questions.  No work = no credit.
1. (16 pts) An interesting reaction uses the following balanced reaction:

2 Be3F8 (l) + 13 O2 (g) → 3 Be2O6 (s) + 8 F2O (g)

a. (2 pts) The name of F2O (assuming it is molecular) is ____________________________.

b. (8 pts) If one tank in a rocket holds 150 g of Be3F8 and another tank holds 195 g of O2​, what mass of Be2O6 can be produced when they mix?













Ans = 

c. (2 pts) The limiting reactant is (circle one):
Be3F8

O2
  Be2O6

F2O

d. (4 pts) What mass of excess reactant will remain after the reaction is complete?













Ans = 

2. (12 pts) An unknown compound contains only bromine and phosphorus; the molar mass is 382 g/mol.

a. (6 pts) What mass percent of the compound is bromine?













Ans = 

b. (2 pts) The name of compound (assuming it is molecular) is ________________________.

c. (4 pts) What is the empirical formula of the compound?  Why?













Ans = 
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